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The image configuration is as shown. Vi
1 1
Vay = o e ; —
dreo |z —a)t + (y -0 + 2 (@+a)* +(y +6)* +2°
1 {
+a)?+y=-02+22 Jz-a?+(y+b)?+2%

For this to work, i() must be and integer divisor of 180"‘} Thus 180°, 90°, 60°, 45°, etc., are OK, but no
others. It works for 45°, say, with the charges as shown.

(Note the strategy: to make the x axis an equipotential (V = 0), { 2
you place the image charge (1) in the reflection point. To make the
45° line an equipotential, yon place charge (2) at the image point. g
But that screws up the z axis, 0 you must now insert image (3) to N
balance (2). Moreover, to make the 45° line V = 0 you also need (4), ; :
to balance (1). But now, to restore the z axis to V = 0 you need (5)

to balance (4), and so on.

why it works for 0 = 45°
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The reason this doesn’t work for arbitrary angles is that you are even- 1357 line
tually forced to place an image charge within the original region of

interest, and that’s not allowed—all images must go outside the re-

gion, or you're no longer dealing with the same problem at all.)
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why it doesn’t work for ¢ = 135°




